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Can you find the word?

1. This word consists of 8 characters,
which is an animal.

2. Last 3 characters forms an insect.

3. Fourth, Sixth, Seventh and Eighth in
sequence followed by ‘s’ means trousers.

4. Fifth, Sixth and Eighth in sequence is an
item used to cover head.

5. First three characters is first half of
‘Eleven’.

6. Second, Third, Sixth and Fourth in
sequence is ‘this’ year having 366 days.
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Can you find the word?
1. This word consists of 8 characters,
which is an animal.
2. Last 3 characters forms an insect.
3. Fourth, Sixth, Seventh and Eighth in
sequence followed by ‘s’ means trousers.
4. Fifth, Sixth and Eighth in sequence is an
item used to cover head.
5. First three characters is first half of
‘Eleven’.
6. Second, Third, Sixth and Fourth in
sequence is ‘this’ year having 366 days.
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; 5 3 @ 7 z 18. Last c.hargcte‘r missed in bread’s
combination item. (2)
g 7 20. Be form verb in “What is it?”. (2)
@ @ 21. A word used to express change,
g g 10 @ " become different. (5)
Down :
12 @ 13 @ 1. ‘“The ‘-‘s of the bus go round and
5 = = round’ is a rhyme kids usually like.
&)
@ @ 2. 13 across only. (2)
@ G @ R 3. A polygon having 3 sides. (8)
50 51 55 4. Not ‘Small’, but ---. (3)
@ 5. Round spot in timber, one nautical
23 mile, intertwining of one or more
@ @ pieces of thread or rope etc. as a
fastening. (4)
Across : 7. An insect in the word ‘Aunt’. (3)

1. One of the grains, used to bake bread. (5)
4. First and last characters of ‘Back’. (2)
6. A mode of transportation which requires

rails, ‘teach to do something’. (5)

8. The controversy “Which is first? Chick or “

is tricky. (3)
11.
third missed. (4)
12.
disappeared. (3)
13.
14.
last 2 characters of ‘design’. (5)
17.
swapped. (4)

One of the rain bow colours, middle one
The European currency, last character

The common part of Cat and Bat. (2)
First 3 characters of ‘Leisure’, followed by

Singers sing a ‘----‘. Middle two characters

9. If you do not know the answer,
sometimes you ----- . State without
definite knowledge. (5)

10. Smile broadly, showing the teeth.

).

15. An animal. Mohan Das K. Gandhiji

used to drink this animal’s milk. (4)

To get the DVD out of the DVD

player, What do we need to do?

Last character disappeared. (4)

A curved structure missing ‘C’. (3)

Information Technology, third

person neutral, pronoun. (2)

Vertically symmetric characters in

‘TESLA’ in sequence. (2)

16.

19.
20.

22.

Answers can be sent to the below address or e-mail on or before September 15.

e-mail : susri@sanghamitra.org

Mailing Address: Editor, Sanghamitra, 12450 Lyric Ct. Saint Louis, MO 63146.

Can you answer?

1. Can you locate a place to store things in ‘Crack’. (4)
2. What kind of stone did you find in ‘Smile’? (4)
3. You can tell where train runs? One of them is hidden in “Trail’? (4)
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Across :
18. Last character missed in bread’s
combination item. (2)
20. Be form verb in “What is it?”. (2)
21. A word used to express change,
become different. (5)
Down :
1. ‘The ‘-‘s of the bus go round and
round’ is a rhyme kids usually like.
(5)
2. 13 across only. (2)
3. A polygon having 3 sides. (8)
4. Not ‘Small’, but ---. (3)
5. Round spot in timber, one nautical
mile, intertwining of one or more
pieces of thread or rope etc. as a
fastening. (4)
7. An insect in the word ‘Aunt’. (3)
1. One of the grains, used to bake bread. (5)
4. First and last characters of ‘Back’. (2)
6. A mode of transportation which requires
rails, ‘teach to do something’. (5)
8. The controversy “Which is first? Chick or “
is tricky. (3)
11. One of the rain bow colours, middle one
third missed. (4)
12. The European currency, last character
disappeared. (3)
13. The common part of Cat and Bat. (2)
14. First 3 characters of ‘Leisure’, followed by
last 2 characters of ‘design’. (5)
17. Singers sing a ‘----‘. Middle two characters
swapped. (4)
9. If you do not know the answer,
sometimes you -----. State without
definite knowledge. (5)
10. Smile broadly, showing the teeth.
(4).
15. An animal. Mohan Das K. Gandhiji
used to drink this animal’s milk. (4)
16. To get the DVD out of the DVD
player, What do we need to do?
Last character disappeared. (4)
19. A curved structure missing ‘C’. (3)
20. Information Technology, third
person neutral, pronoun. (2)
22. Vertically symmetric characters in
‘TESLA’ in sequence. (2)
Answers can be sent to the below address or e-mail on or before September VW˚ �
e-mail : susri@sanghamitra.org�
Mailing Address: Editor, Sanghamitra, 12450 Lyric Ct. Saint Louis, MO 63146.�
�
Can you answer?
1. Can you locate a place to store things in ‘Crack’. (4)
2. What kind of stone did you find in ‘Smile’? (4)
3. You can tell where train runs? One of them is hidden in ‘Trail’? (4)


